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Explanation of height calculation

‘From the observation point, on which line did the top of tree
on the opposite bank appear to be an extension?

-The blue and red triangles in the diagram below are different
sizes, but are right-angled triangles with the same angle.

-Due to this property, the following relationship holds.

(A: tree height) a

(B: river width) (b: square length)

(B: river width)
= (A: tree height) = X a
(b: square length)

= (A: tree height) = 10 X a

____a___|tree height
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tree

A:
tree height

B:river width = 3 m(300 cm)
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